. . QUESTION BOOKLET
This question paper contains 170 questions. / 38 WA9A § 170 TAE |

All questions are compulsory, / Tt sy tfam § |
One question carries half mark only. / T WA & foe e s IR |

Maximum Marks : 85 : ifirera a7 : 85
Time : 2 Hours | Y : 2 ¥
1. Which was the principal item of food of the people in Indus Valley ?
(A) Wheat (B) Barley . (C) Rice (D) None of these
Ry arA & <l 1 g3t @ = ot o 2 2 : .
(A) g B) = (C) (D) % & s T
The Rig Veda contains

(A) hymns in honour of the gods.  (B) yajnas to be performed.
(C) rituals to be adopted by the people. (D) history of the Vedic period.

Frag 4 aorfed 2

(A) TRHTAATEIS . Eﬁ
(B) fFuvmamias 1. .5 Ok
(C) <TI = TR AN T I1eA YiiHeD, 11
(D) AR wwa &1 shrama- V\}

-3.  Bimbisara belonged to which d asty 2.

(A) Anga '(B) Girivraja  (C ',iﬂaryanka (D) Mauryan
fofarar e A wafm |
(A) Im ®) fifem () &% (D) uw

4.  The 23" Tirthankara was

(A) Rishabhadeva(B) Sadharman ., (C). Parshva (D) Mahavira

23d defc
(A) SHEWCH (B) @uAH @ e (D) TEHR
@ The second capital of Chandragupta Il was .
(A) Magadha (B) Kannauyj (C) Ujjain (D) None of these
g 1161 g8l oAl )
(A) M B = (C) I=N (D) ¥ =k e
6. Kadambari was written by -
(A) Kalidasa (B) Banbhatta (C) Panini (D) Patanjali
FremEt g gra forar man e ¢

(A) Ffe@ (B) @ () wRlY . (D) wdef
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(::;7 The founder of the Sena dynasty was

(A) Vinanyasena (B) Vijayasena

(D) None of these

g:;) Lakshmanasena t -
91 T HEITI T :
(A) ferr=am (Y’ fasmads (C) EITEA (D) ¥
8.  The first Muslim invader of India was _
(A) Muhammad Ghori (B) Chengiz Khan o
(C) Mahmud of Ghazni (D) Muhammad-bin-Qasif -
(A) &S (B) ar
(C) e T (D) HEwTE- -
“‘Nauroz' was introduced by
(A) Balban (B) Itutmish _
(C) Alauddin Khalji (D) Muhammad-bin-Tughlag
T wafea feman man
(A)-FTE Z (ey-zegatrn 7
(C) AT Gert! gl (D) HE=T-fam-gTe
10. ith whom did Akbar fight the second battle of Panipat ?
(A) Ibrahim Lodhi (B) Ahmad Shah Abdali
(C) Hemu (D) None of these
AT TG fiefta g frmR s 2 ?
LA)-FTTRS EANG) (B) 3TBWE IR eTell

Oz S (D) ¥ & I T

7 11. JWho was the last apostle of the Sikhs ?

(é}) guru Ealnakn Eg% Guru Gobind Singh
Guru Arjan Dev Guru Teg Bahadur
R e 9 :

(A) TAEE @y MR g (C) TRt (D) TE M e

hivaji’s capital was

; _’ ‘qmg[na _ Efgﬂ) Raigarh (C) Panhala (D) None of these
SEy (B) W (C)-wEm (D) FHAFEHE
13. ho.was the first Governor General of India ?
gé)) ‘éR;::lnn?rTgHastings (B% William Bentinck
el 2 (D) None of these
(A) o R im (0) T (D) ¥ & 7§

—— e e
——
— —— ——— — — T ——— . i W
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4,/ When was the Ramakrishna Mission established ?

THE e i w2 e r’ﬁfﬂ 9
(A) 1867 4B) (TB8Y (C) 1892 (D) 1897
15.  The Arya ngaj movement was started by |
(A) Sv{am1 Dayanand (B) Swami Vivekanand
g% Raja Rammohan Roy (D) Keshab Chandra Sen
THTH 3TEer = wroy fomee fraren 7
(A) =il @E= (B) = fEwr=
(C) T THHIE T (D) e oA .'
16. When did the first Indian National Congress meet in Bombay 7 f.-‘f
s 1 vgeh T T i R e e g i 7 /
AA) 1885 (B) . 1890 (C) 1895 (D) 1905
17.  The first Indian Civil Servant was
(A) S.N.Banerjee, (B) C.R.Das
(C) K.M.Munshi (D) J.L. Nehru
Taat wRe fafae 49 (ICS) @

_(A) _ga.t{q.aqaﬁ u?{)@ﬁ.m.m ©) Fuge (D) A, 0. TS

o, ere did Gandhiji win his first battle of Civil Disobgdience in India ?
A) Nagpur (B) Ahmedabad (C) Bombay / (D) Champaran
yg | afea ST ) ST orm g e 3 el S o 2

\E;\) AT (F) - sEeER (£ G| 7})@) OO
19. Who spoke the words “Swaraj is my birthright and 1 shall have it” ? i

(A) Aurobindo Ghosh : (B) B.C.Pal

(C) Bal Gangadhar Tilak (D) Mahatma Gandhi
e T TG S i 8 S g e we e 2
(A) IR = (B) =h.H. T

(C) F@ TR AEE (D) w@Ten T

0. YWho was the first Deputy Prime Minister of India ?

(A) Maulana Azad (B) 'Vallabhbhai Patel .
4 .. (D) Krishna Menon j

C) Acharya Kripalan! J
Enger%;uﬂm—uwmﬂa"raﬁ?ﬁ? _
(A) W] 3G = AB) T e b |
A i
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21.  Which are called as the ‘Primary Rocks’ ? gedimentary rocks

(A) lgneous rocks (B) L C
(€) ﬁMag:morph-ic rocks (D) Both (B) and ( )
T8 F1 W s g vt o €17 ;
i ® T
(C) =t =g (D) 2 (B)

22. Richter scale is used for measurin ,
(A) Density of liquidm " © (B) Depth of mines

(C) Intensity of an earthquake (D) Noneofthese
Chet 1 YA T4 AT % fer e SRR 7 -

(A) & 1 o (B) @gHI ! L

(C) sy ) eftaen (D) FHAFE

23. Siachen glacier lies in
(A) Ladakh Range
(C) Sulaiman Range
(A) T gEe (B) FIIHTH G
(C) AR #JEen 3 (D) feggrm JEen ®

24. The lowest layer of atmosphere is - -,
(A) Troposphere (B) Stratosphere (C) [onosphere (D) Mesosphere

w1 ogd A e . _

(A) &ivEse (B) woamdss  (C) M@ HSA (D) HEAHST

(B) Karakoram Range
(D) Hindukush Range

=~ .

_25. Cirrus clouds are generally found at the height of

'—/ﬂé/(A) 6-12 km (B) 10-20km (C) 30-40km (D) None of these
O INE WU AU TR ST § 7

QT |
(A 612 e, (B)L<10-20f6H. (C) 30-40 . (D) w7 @ = 7

~ &
26. The ocean which has t‘ae greatest depth is the

(A) Indian Ocean (B) Pacific Ocean

C) Atlantic Ocean (D) Arctic Ocean
ég)m forereh) mewrd waw ifir 3

(A) fe= HETErR (B) ST HETETR

(C) esiiesh HEHIT (D) 3mhies mRmTR

_/z;-; High tides are also called

A) Neap tides (B) Spring tides (C) Ebbs D) N
-Eﬁ?-aem-maa?rﬂﬁﬁ T 2 | (B} None ofithese
(A) g -3 (B) (C) & (D) 7 A Fré 7
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28 '(111;3 p}llants which prepare their own food are called
eterotrophs (B) Autotrophs  (C) Sapr'nphyles (D) Parasites
TS S 79T YoM =Y 999 & 2:

(1) Wi By s () &hwmeE (D) YHRH

29. Ozone depletion is mainly caused by

(A) Carbon dioxide (B) Chlorofluorocarbens
(C)_Carbon monoxide (D) None of these
(A) HTe SI33ThATES (B) SRR
(C) HHITETSS (D) 3T & HIE A&l
30. Which continent has the largest population ?
(A) Europe (B) Asia Eﬁ
(C) North America kD) Affica el
fr T 1 ged wfuw @R
(A) T (B)_ Qﬁﬁﬂ (C) i stifm (D) RIS |
31. Quinine is extracted fi ' .
(A) Camphor ' ; (D) None of these
e s H o B HH ,
(A) T (D) FHAFRTE
Which country is knowi'as ti e World ? '
(A) India (B) China (D) US.A.
a1 g forgm 1 N BLHAT ATl 8 ?
(A) ¥ @ FEYATEn @ s
el LR Libt==dadod d ; .
33, Inmonsoon regions; the ma u ra ceur in _
(A) Summers (B) u? éarls rp &’ é? TA\numn (D) Spring
e 87 °, ARy 9] Bl & |
(A) Wﬂ?@,ﬁ (B) Wawgd (GF vAgH (D) WA wGH
34 The capital of New Zealand is
(A) Melbourne %3) Rome (C) Paris (D) Wellington

C iR IRERIEL . .
(A) FeEH ® i ®) i (- 3fmeA
m the northern most point of India, the rays of the sun are always

/A) vertical (B) obhque (C) direct (D) None of thes

e ¥ e Il g T i R g el B _ .
(A) ST ot (C) ®eh (D) AT

S . Cado Nn _Eﬁﬁlﬁ.ﬁ@;ﬁi




Universal Adult Franchise shows that India is a country which is
(A) Secular (B) Socialist (C) Democratic

[ e F9h qausR vt s 2 i mrﬂqmt}mam%m) Sovercign

- (a) w-FrEs R 1 (B) TR 1 (O w2 | (D) Hwg R |
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A6, The Queen of Himalayas i
/ . yas 1§ a
C (A) Dhaulagiri (B) Kanchenjune
(C) Nanda Devi (D) K-2
eTera 61 T 2 By F-2
(A) Herfiy m. (0 T
37,/ Which river empties itself into the Arabian Sea ? Canvery
(A) Nan‘g\ada (B) Mahanadi (C) Krishna (D)
IE IR ° T o 1) et 2 2 . Sl
(A) g By (€) F =
38.  Which soil is most fertile ? : . T :
;% Black soil  (B) Red soil (C) Laterite soil (D) Alluvial soil
At Iuems i 2
(A) it (B) sm @ (C) dene gt (D) ERUALEL
39. Diamond mines in India are located in
(A) Rajasthan ~ (B) Madhya Pradesh
(C) Bihar . (D) Tamil Nadu
YA H P weH SRl RmE T L
(A) Tm (B) mEwa (C) fEm (D) AfEETS
The leading producer of coffee in India is o :
(A) Kerala (B) Tamil Nadu (C) Kamataka (D) Assam
YT | ikt Ieared 5 3moft 759 2 : ,
(A) F& By afirerTg @ mﬁza: (D) 31EW
/""'-,_“'\
41. ich is not a feature of Indian Constitution ? | :
A) Federal Government
(B) Presidential form of Government
(C) Independence of Judiciary _-
(D) Parliamentary form of Govemnment”
mﬁmﬁwmﬁ@mmgo
(A) Hff'!“lm (B) H0HT 1 rersfiy Ty
() ATATTHT - h AB) mmwﬁam
42,



43

45.

46.

47.

49,

The item ‘Education’ belongs to the

(A) Union list (B) State list
(C) Concurrent list (D) Residuary subjects
e favg wafm 2

(A) TR (B) v (C) Wi g A (D) wfim faw

Who admits a new state to the Union of India ?

(A) President (B) Supreme Court
(C) Prime Minister (D) Parliament
YT U U T T ) i wE R

(A) TR (B) were e (C) S (D) F

Fundamental Duties are included in the Indian Constitution by which

amendment ?

(A) 42 (B) 44" (C) 527 (D) 73"
e T 3 Fre i 3 gr Hifereh e w1 e o mn g 2
() 42at (B) 44d (C) s2A (D) 734
President of India can forward his resignation to whom ?

(A) Chief Justice of India (B) Prime Minister

(C) Speaker of Lok Sabha (D) Vice-President

N 3% TR T ST ol QW @ 2 _

W) WE % ged A E (B) SHHRAHI

(C) TreEw 3Teae Hl (D) I9-Trgafe i %E
Who chairs the meeting of Council of Ministers ?

(A) Prime Minister (B) President

(C) Cabinet Secretary (D) Speaker of Lok Sabha
ﬁaﬁqﬁﬂaaﬁ‘réﬁwmﬂﬁrﬁqﬁm%? .

(A) SUEHA (B) Twafa

(C) e afa= (D) Wi A

Who is the chairman of the Rajya Sabha ?

(A) President of India (B) Prime Minister of India
(C) Vice-President of India (D) Speaker of Lok Sabha
TG T AT 1 € 2 ‘
(A) ¥ & Tt (B) WA 3 U
(C) T % Fu-Tgafa—" (D) eEMT T

Indian Parliament is

(A) Unicameral (B) Bicameral (C) Tricameral (D) None of these

YRty w8

(A') qq;a'q'fﬁ (B)—:ﬁ{-ﬂaﬁ () Fr-wed (D) Fﬁﬁﬁqﬁ_
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50. The Chief Minister is appointed by
(A) Governor
(C) Chief Justice of India

President
EE)) None of these

g i FrafE € 2 |

(A) TSIUEgRl (B) W@% -

(C) T ¥ er = g (D) ¥
51.  Which two states have a common High Court ?

(A) H.P.and U.P. (B) Gujarat & P%gﬂul'];?;fhn'a’

1(% Kerala & Tamil Nadu (D) Haryana & Funj

2 T 1 U 399 I AAEI & 7 e
(A) fa.w. a3y, (B) TErd AL HE
(C) ¥ 3R whrerTg @) ghemm AT T
: ?

52. In India, how many times has the President declare_d financial emergency -

(A) Never (B) Twotimes (C) Threetimes (D) Once

T 8, Freeft = Tgata ¥ onfifs snraTe ) Hwon 6 2 :
(A) =7l  (B) AN (€) daEm (D) THEX
Who was in favour of a democracy without parties 7

(A) LP.Narayan (B) B.N.Dutta (C) MN.Roy (D) JL. Nehru

o g2 & v & T8 H A o1 ?
(A) 9.9l TEw B) &iE.gm }Q{m.t{q.m @fﬁmﬁﬁﬁ

Disinvestment inf public sector is called
(A) Liberalization - (B) Globalization

(C) Industrialization (D) Privatization

: & 1 fafteyfietn e &
(@m (Bs)eﬁ??ﬂw (C) afrarftsro (%%ﬁ:,ﬁq,—m

@Taxation is a tool of
%A; Monetary policy gB% Fiscal policy

C) Price policy D) Wage policy

Y TH G & -

(,qf“ iz Hifa =1 (B) U=y fife =

(tlit); e Hifa s JD) o Hifa =

56. Eﬂlul)m Ige;olun;inn is related to _
ish production B) Fertilize ducti

:(ﬂ% ;"Ar% proclucn%n %D) Oilseed ;r[:)rgu;?c;r?n
(A) W IFEA § (B) 39t IR
(C) g9 I | (D) T seres @
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é{"]nsider trading is related to U
{ (B) Share market

“ (A) Trade sector
(€) Credit markeiﬂa% (D) Horse racing
(A) FTRERY  (B\FTAEHE (C) HE@ TR O e

( 53./{'Gilnbalizatinn means
y with the world economy.

(A) Integration of the domestic econom

(B) Integration of the various sectors of economy.
(C) Integration of financial market.

(D) None of these

mmﬁﬁwmaﬂﬁﬁﬂaﬂm
(B) el & fafirs & o TR Eﬁ
() Taefia s 1 ThIHT i
(D) 78 @ wi3 TE

59. Indian Economy is a/an
(A) Mixed economy
(C) Capitalist economy

(A) Tufa aeieda (B) == ydaa (C) efradl 37 (D) ATETe SR

National Income is the
(A) Net National Product at market pricé—"

(B) Net National Product at factor cost
(C) Net Domestic Product at factor cost

(D) None of these

(B) Independent economy
(D) Communist economy

The universal law of gr;*ivitation is attributed to
(A) Galileo (B) Kepler (C) Newton
ESIER LGS

ST < forem wierrfea feman s
() AeRREA  (B) FEA 4€) PR (D) AT

he energy possessed by a body by virtue of its motion i
A) Potential energy T EB% Kinetic energy
D) None of these

e e 3 o e e

(A_)_@Gv ol () e el (C%é’@fﬁﬁ .

— e ode N & C-621/2020/Serles:
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61.
(D) Einstein




63. The transfer of heat by the physical movement of matter is called

(A) Conduction (B) Convection (C) Radiati%m (D) None of these
T 1 wiferes f % g e w1 TR SEear
(A) e (B) wagm  (C) fafsw (D) ¥ & 1 TE

64. The audible range for human ear is ,
(A) 20 Hzto 200 Hz (B) 20 Hzto 2000 Hz
(€) 20 Hz 10 20,000 Hz (D) None of these
T 9T ) 2 TH B .
(A) 2018 200 78w (B) 207 #2000 &
(€) 20 %= 9 20,000 & (D) T8 & FI e T
65. Bats can fly in the dark because of
(A) Partial displacement of air (B) Anti-gravitational pull
(C) Ultrasonics (D) Clippedgyings
TWNES A T I HaHA1 2 .
(® g% st R S e (@) + ST
AC) Fregmifa %
66. Whichmimorisusedasas i ?
(A) Concave mirror_ | U (B) Plane mirror
(C) Convex ’ - (D) None of these
. BT 58 gIM 1 ST BT B 7
(B) €Haw 2qu 7
(D) %88 =E T8
67. In an electric bulb the filament is made of

(A) Aluminium (B) Gypsum (C) Nichrome (D) Tul-'t »
forea 5e= ° Reemie = Shan 2 E3en

(A) TS (B) fms (©) wmEwm
68~ Hydrogen Bomb is based on

(A) Nuclear fission
(C) Chemical reaction

(DY- T =y

(B) Nuclear fusijon
(D) None of these

ZmuTid
(A) b frgveA ™ ey Tt
(C) Tmmafis AffFm | (D) %8 & =rd i
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@’Wmch acid is used in lead storage batteries ?

(A) g}’drochlorlc acid (B) Acetic acid

(C) Nitric acid D) Sulph id

e ﬂaﬁ?ﬁ:{m ( ) ulphuric aci

(A) m@mﬁ’mﬁ (B) e i~

(C) st W ufe =

Bleachmg powder is

(A) Calci'urn chloride - (B) Calcium carbonate

(C) Calcium oxychloride (D) Calcium hydroxide
RIEELE

(A) Ffcwm semge (B) Hicyam FrEie

\ (O arffeeoee o f, (©) Sfowmam wEeeETEe

71,  Which is a good conductor ofheat and electricity ?
(A) Anthracite (B) Diamond (C) Charcoal (D) Graphite

o1 3 e g am 2 7
(A) TmEEe  (B) €U (G TTEE (D) R
@ Bronze is a/an '

(A) Element (B) Chemical compound
(C) Mixture (D) None of these

7T B T

(A) Tf By TEmfs s Eﬁ
(C) Them | (D) FHEFETE ©
Glasslis best described as a/an

(A) Solid ' (B) Liquid

(C). Super cooled liquid (D) Occlusion compound
i sS T

Gy 5 % & YB) Tz
\gqmmﬁr—sﬁﬁmﬁ%mﬁ ?.(D)_tr,aﬁ-mwzi‘rﬁm%wﬁ

Which is a synthetic polymer ?

Nylon (B) Glycogen  (C) Starch (D) Cotton
'{-r% A FH 1 HYE T TEeTE & ?
(&) AR (B) wREME  (C) WM (D) U™

75.  Which is not a true snake ?
(A) Blind snake (B) Rattle snake (C) Seasnake (D) Glass snake

& 1 T O AT | e R 2 )
(A) 374 &d (B) &= (€) T ad (D), A Te T

- — e . e e e i . S
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76. Beri-beri is caused by the deficiency of which Vit?{m:’? 7
(A) Vitamin A (B) VitaminC %(C) Vitamin
-5 Tm Ty Ryt ) & @ &8 7 s o
(A) ﬁETﬁFrFx (B) ﬁzrﬁlqc (C) WK (D) 9

/ Excess of water in body results in
(A) Anaemia (B)a; Scurvy ﬁ?(ncg} Xerosere
Wik 4 w1 ) arfussan & qiomHEEd g g
(A) wHfifen " (B)?_Qm‘f oy e (D) FHADR

..@ain relieving drugs are known as

(A) Anubiotics
(C) Sulpha compound

(D) None of thes

(D) None of thes

(B) Aaesthetic
(D) None of these

%8 THaF gar &) wed 2
(A) Ttaraifesy (B AR
(C)~aeh i (DY 399 B RIS A6

79. Pacc-maker is related to !
(A) Lungs (B) Kidyey, (C Liver (D) None of thes:
g -Nw gl &

(A) FF2 B (B) g=@ C) THad  4D) FHEAHE T

80. Iron s abundantly found in

(A) Green vegetables (B) Egg :
(C) Milk . /(D) None of these
- (ArEiaEmEE (B) swed ) gqud (D) SHAFEAF
@f\ /Cyclone” is related to ‘Anti Cyclone’ in the same way as ‘Flood’ is related to
(A} River (B) Devastation (C) Havoe (D) Drought

e TRt 8wl =T 8, 3w 9 e et
R) I B-EEE (WY (D qerd

82. In the English alphabet ‘BDG’ is to *CFJ" in the same way as ‘EGJ° ;
7 ; . 3 ; : . N E .
3Tt AvpTer # BDG’ 3 ‘CF)* & 3 5T ‘EG)" 3 & y as ‘EGI" is to

(A) FIL (B) FIM (CFIM ) FN
83. - Choo(s_}e Ilge %dd pﬂir.t
old : Omaments ‘
(é; Wood ; Fumiture E%)) gé?:}:ﬂ'n%%???!é?ay
ﬂ-'q &
(A) ¥ ' (B) wvg1as
(C) TG HA I -



g4.) How many letters are there between 8" letter from left and 7"

L right in the English alphabiet ? r it an letter from .
ﬁﬁmmmﬁmnsmmmaﬂimﬂmmm%éﬁqfwmamgq
w7 i (© 9 (D) 11

/ﬂ If PALE is coded as 2134, EARTH is coded as 41590, then PEARL 15 coded

\_/as
ﬂﬁPALEWT‘ﬁ? 2134, EARTH E!ﬂ?ﬁzélﬁgﬂ‘%ﬁ'ﬂaiﬁﬁm PEARLE‘I%%

(A) 29530 (B)>24153 () 25430 (D) 25413
Missing term in the number series is
el Aft 3 T ve R | i
1'}96 648, 216, 7, 36. 18, 6,3 - '
NA) 108 (B} 120 (C) 132 (D) 148
The next term in the letter series will be B3
. 37870 S0l T 3FTET Ug B e
CEG, KM, 0Qs, 2 YWY
(A) VXZ (B) TVX (C) TUV. By UWY
(\88.) Javed’s brother’s sis fathien's im and Karim's daughter is
\ "“ Dolly. How is Javedrclat -
_(A) Uncle ¥ sin (D) Brother K]
S 3 T f et 1 o 2 B |
T ST | TR % '
(A) == (D) w8

/ After starting from a point, a s 4 km towards West, then turning to -
his right he moves 4 kmi After,this,-he.again furns right and moves 4 km.
The correct direction in which he ;snt'rbm his slaﬂ]nh_, point is
(A) Nm’th (B), East . (C ) “South (D) West
g g 1 e T, S 4 R Y o <o &, v e
=7l 3T e & 3K 4 o6 7. == & lmmaﬁ‘@naﬁ s gt 4 fRfl. !
e 2 1 e T @ IR wE fem @ 7
) I (B) (C)- <fem (D) ¥
was celebrated in 1996 on Friday, on which day in 2000

77

anll | Republic day
Independence was celebrated ?
(A) Sunday (B) Munday (C) Tuesday (D) W;.dncsday "1\

| of 1996ﬁwaﬁmﬂaﬁmmwm 1 2000 ¥ w@a=m fean @8

ﬁq:mmnmgrm'? -
(A) EEI (B) HWHAT O (D) Fu=R

i — T BT o " Code No. : C- ﬁzu‘z[}‘!ﬂfSenes—:\




] : 2gth Garaswall Samman Ay .
91. Whott ferred with the =277 SFEE 27 \
@) Vikamsaty B) VasdevMon
(C) Padimu Sachde: (D) Mahabaleshuhr = *
e & 3 farma) 2941wt T ol 52 Pt
(A) Tasm & =1 AB) FTH N
(C) Yegm w=ed =i (D) WEECTRAL
92.  Which Indian satellite has been recently Iallnchéd 1F_'r:::f;!Tr:?? French Guiana ?

el 71 4 S e & =i w1 Yt I9E T
(A), RISATEQQST (B)- GSAT30 (C) GSATT7A (D) IRNSS IH

L@mhal Is the name of the Biggest Airborne Exercise recently conducted ¢

i the Indian army 2 ,
(A) Him Vijay (B) Dhruv Sakthi
(C) Winged Raider (D) Yudh Abhiyas
AT &= g aTe &) & wege gu wad wS RmaiEd ST A E 2
M ferfmm () g af# © frgmaet (D) F& AW

@ow many Indian astronauts have been selected recently for India’s fir

human space mission ?

(A) Two (B) Three (C) Four (D) Five

BT € H W % UBe) W dier i & fom Ry e sl -gitel =
SO g3 8 ?

(a) @ (B) AC)- =W (D) g

95.- The entire government of which country resigned recently after i
constitutional amendments announced by its President ? )
(A) China (B) France (C) Russia (D) Ge
\ . : § rman
&I 5 g 3 g i fir R wRT S % e e s o 2
TR A @ 2 fean “’

(A) =7 (B) W (C) =9 Qf 0

Mich state is going to observe 2020 as Susashan Sankalp Vv ?
(A) U.P. (B) Gujarat P rash
(C) Haryana (D) Madhya Pradesh

ﬁ?mﬂ?ﬂmznaﬁgmmﬁmaﬁ%mﬁmm@ :

P L

97.\ “ The Ilisu Dam, which has been in the news recem L FBTh ke )

&(A) Pakistan  (B) Bhutan (C) _kaeyy 3 '"(‘B';'Cg cquln:er :
E’Iﬁﬁﬁﬁfﬁﬁ'@“m“” "'E"?'”Tﬁﬂ'ﬂ%wﬁ%? angladesh
(& wiemE (BYTER (C) =fi {10, e

e ——
e
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hich compan
(J/ v PANY has recently launched First Audio Service *Suno® of India ?

(A) Boss (B) Audibl
3 € (C) Sony (D) Samsung

ﬁ?z*a‘a;#i Wﬁ%‘ﬁﬁwﬁmﬁmﬁm fNem A Ema 2

' (B) aifems (C) @t (D) Bmam
99, Tlcg;f;‘;mw ‘opped the Medal tally of 13" South Asian Games-2019 ?

( %mw (B) Nepal (C) India (D). Japan

13 i WE-2019 3 30 @ 2y e 1 i) 30 2 w7

(A) (B) turet (C) wwa (D) w9H
100/- o became the first Indian 1o play 150 Ranji matches ?

A) Sairaj Bahutule (B) Amol Mazumdar
(C) Wasim Jaffer (D) Devendra Bundela

lSﬂWﬁﬁ@Hﬁmwwﬁﬁm?

(A) AT Fgqe  (B) 3Tl woqwert (C)  ereftm =i ﬁw
101: Total geographical area of H.P. is , ”
bt §

fewreret WM 1 el Wi S
(AY 55673 km? (B) 65673 km? 6

“ (D) 85673 km?

102. The sex-ratio of H.P. as per _
2011 = STV 3 STTERARETE
(A) 916 i

= 0) 972 (D) 982

qharters of district Kinnaur of HLP. is
~"(B) Kaza (C) Pooh (D) Rekong Peo
(A) Hedl (B) I € ® - @) fwmdan

103.

104, The largest artificial lake of H.P. is
(A) Renuka (B) Gaobind Sagar (C) Pandoh (D) Chamera

R, %) wod 7<) HHm e
(A) YopHT () TifagEm  (C) WER (D) =AW

105. Smallest wildlife sanctuary in H.P. is

(A) Shilli (B) Kugti (C) Shikari devi (D) Choordhar
Ry, & i T =TS AT B
(A) Rreeht (B) Flt ©) fmfizdht (D) FEUW

e E(J_l:l_l‘-‘—f_":;' : C- C-621/2020/Series-A
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106. The river Ravi orig; from which place in H.P.
t ginates {ro |
(A) Bara Banghal (B) Baralacha Pass

(C) %uhmng Pass - (D) None of these |
S | A= 7l 1 3G R 8 7 _ e
AR) g Ham (B) swrem=ned  (C) Jgamad (D) FHEE:

@ Gasota fair is celebrated in which district of H.P- 7

" (A) B“&Spur (B) Una mamirpur (D} Kinnaur
T8, % %1 A Rt & reivan e w0 8 7 Dy Fek
(&) e (B) (C) Y ( |
108. Which district of H.P. has highest population density /4 _
(A) Hamirpur (B) Kangra (C) Solan (D) Shimla
9. % % 3 fdt a1 s vAe wad s 2 7
(A) B (B) whime (C) ®IeA (D) fomem
109. Sach Pass connects Chamba with o
(A) Pangi (B) Bharmour (C) Kangra (D) None ofy;
mzﬁwﬁmgar% . A =
(A) orfi & (B) v & (C) HimETd (D) 379 & =r:
110. Who was the founder of Keonthal princely state of H.P. ?
(A) Giri Sen (B) Jaspal (C) Gobind Pal (D) Bir Sen
few. o forafirare Tl v =1 weeas e o 9

(a) fftam (B) <rauTet (C) MiigT® (D) =Swaw
111. The old name of *Sundernagar’ was

(A) Kirgram (B) Hindur (C) Dhameri (D) Baned
AT T YT T o)
)

Fom @ R @) w (D) WP

112. Himachal Pradesh Board of School Education w

oy e ety P e gsﬁsta ished in which

; 2
(A) 1966 (B) 1969 (©) 197 (D) 1983
.@iver ralting was introduced in H.P. in which year ?
~— Temmare ven T R ufFe w s e ad gan e o
(A>1980 (B@) 1983 1986

(D)~ 1989
M mber of assembly constituencies in Lahaul-Spi dictri. }
@;algxﬂ (B) Two (C) Phige T ! district of 1.1

9. ’a'?a'lﬁﬂ-ﬁﬁlﬁl Fﬁ_ﬁ%mﬁw ﬁah?—xﬁ?gn) Four

3 ez 2 2
' (A) T @._3 (€) oy
' - c e SIS
s .~ za1anm/Series-A 18



The is the Tramsm),—[

. Minj
(5. N ahender Singpy Ty of OF HLP, 9
[ﬁ:T g;-;d Sin;_:tna'-]"l Thakyr ' lB e
(©) el ) 111511““_ ’En) V!pm Smg:h Parmar
@;;ﬁa s TREER T FR o } Virender Kanwar
Eﬁ’? mfer iz s B) fafmm far wmm

116.

117. W

118.

119.

120.

121.

122.

— D) it =
when Gandhiji visited g

E5E
Tﬁiﬁiﬂqg?ﬁaﬂmﬁqmgl%?" the first time ? fiﬁ‘@
(A) 1921 (B) 1923
mo designated Shimlg

(A) Lord Dalhousie
(C) Lord Curzon

- D) Lord Rippo
m;ﬁémﬁﬁ&mmiﬁﬁmm%gmm?é%p%m?
(A) RESTER (B M i (C) e - (D) e o

H:::i‘:hal Road Transport Corporation (HRTC) came into heing in which
year - y

Feareet 9% TiEe B (HRTC) feg ad sifesma 5 st 2

(C) 1925 (D) 1927

as the summer capital of British empire in India ?
(B) Sir John Lawrence

(AY 1974 (BY 1978 (C) 1982 (D) 1985

Sun Temple is located at which place in H.P. ?

(A) I:.flan.._':l'li (B Bharmour (C) Mandi (D) Nirath
Ry i e em wfREa?

(A) Tl (B) WWHR (C) =vd] +D) "nY
War Memorial is located at which place in H.P. 7

(A) Nahan (B) Dhara-msha’u%((f) Solan (D) Chamba
f3, % form worm W ATt Aties fRE e ?

(A) TE (B)  Hogane] (C) Hier (D) ==
Prashar .Lakc is lacated in which district of HL.P.?

(A) Mandi (B) KU“U {_C] Sirmﬂllf “D) K.il'l'lgra
B3, ¥ fra B f wom e fRa e ‘ |

(A) T (B) () fawii (D) 2T
Which is the largest Ginger producing district of 1LP.

(A) Sirr 3) Solan (C) Shimla, (D) Mandi
'Fa.;.irn;;%raa mﬁm) ez ) TR £ A AR 2 |

T | =g T T Cade No. £ C-62172020/Serics-A



£43.-The tota] funds allocation for the first Five Year Plan in H.P. was ncarly
(A) 2.57 crore (B) 337crore  (C) 484crore (D) 5.27 crore
%.u.ﬁmﬁaaﬁqm%ﬁaﬂmﬁﬂmwaﬁ -
(AY2.57 wirg 4B) 337+ (C) 484%U8 (D) 5.27 HUs

@ What is the share of H.P. in Nathpa Jhakri project ?

FT) afediemn 1 feorare wew & 3ive 2 .
(A)A5% (B) 18% (C) 22% (D) 25%
o ¥
1287 The book ‘Buddhist Monastery in H.P." is written by
A) O.C. Handa (B) M.R. Thakur (C) R.K. Kaushal(D) G.D. Khosl;
“UGR AT 39 fo v, o SrEm wa @
(‘;T M.z By .m.mgqx(c;}/fm.%a,a%’rwm)/\?ﬁ.ﬁ.@m

ere did Guru Gobind Singh write a major portion of Dasham Granth ?
(A)_ Baru Sahib  (B) Paonta Sahib (C) Rewalsgs Manikaran

T Mi&=, e 3 2am vt w01 o s v for o1 2 G
(R ATt o4 hoey wifea ® @1 ) o
. i
127. The oldest school of Pahari painting4

(A) Kangra (B) Mandi,

126.

) {Basholi (D) None of thes

(€) =oteR (D) AR
128.

Ulndian painter (B) an eminent Historian
nt classical dancer (D) None of these

Ay T ity W?ﬂzrﬁmw (B) = yfafeg
(C) @mmm (D) T/ w1

129. Deotsidth temple is located in which district of HP.?

(A) Bilaspur (B) Chamba (C) Kangra (D) None of thes

femmerer g % v e 3 eeiefiog wfw 27

(A) Tremag (B) == (C) wrmen (D) =8 Qs =
130. Bhunda ceremony is held after every

(A) 6 years (B) 12 years (C) 20 years (D) 25 years

UET I T & AT HAT T R |

N ) = B sEad  (€) dwwd (D) v
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ions (Q. 13 :
Dirgct:yves(‘g . (ljtn 135) : Choose the most appropriate option out of four piven
alternatVes A By Cand D o i1 in the blank

131, Ravi his head agai /
(A) forced By Sln}f,g;(nsl us ‘Zél;' sounded (D) injured :
. It is fourteen years since | him.
(A) saw (B) ~haveseen  (C) did see (D) had seen.
@ 1 will be a loss in this deal.
CiA) to W on_- () at (D) for %ﬁ
134. Why don'l you sit me ? |
(A) close {B) beside (C) along (D) next

@leena s politethat everyone likes her.
(A)eas (83 much (C) very (‘Eﬁ 50

Directions (Q. 136 to 140) : Choose the correctly spelt word out of four given
alternatives A, B, Cand D :
136. (A) Passenger (B) Pasanger (C) Pasenger (D) Pesenger

137. (A) Drivar (B) Draivar (C)—Driver (D) Dryver
138. (A) Tiket (B) Tikett (C) Tickat (D) Ticket
139. (A) Transpcy/ (B) Tranceport (C) Transpoart (D) Transpourl

140. (A) Othority (B) Othourity (C) :ém/tgnriry (D) Authorty
Directions (Q. 141 to 145) : Choose the word which is opposite in meaning to the
given word out of four altematives A, B, C and D.

141. Manage

) Direct {(‘_3) Avail (C) Bungle (D) Wild
. Shame
(A) Glorify AB) Exalt (C) Dignify (D) Enshrine

43 Harmony
(A7 Hatred (B) Friction (C) Discord (By—Enmity

144. Arrogant
(A) Proud (B) Meek (6 Insolent {) Rude

Luxury
(A) Sadness  (B) Treachery (G}-Duplicity (D) Austerity

____...-.—._.-,.._....-_...——.._—_-..._-_.___—‘____, e —————
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Dirccti?ns (Q. 146 to 150)
alternatives A, B, C and D which

idiom/phrase.

@D be in abeyance

(A) Tobein trouble

(€) In a fighting mood

@Tu read between the lines
(A) To cuncentrafﬁo
(Cd+ To suspect

148. To make a shot
(A) To retaliate

(‘&’“TU make a puess
e
Qg/ Harp on

(A) To comment
(Q)~To keep on talking

@ To lose face
To look angry/
C)} To be helpless
e (7151 4 155) 58 = 9h

Choose the most appropnate option out of f;,
: 0] ' =
best expresses

the meaning of gy,

L(ﬁ)r Dual minded

(D) Insuspensec

e

(B)
D

To read carefully _
_ATo grasp the hidden meaning

(B) To hit someone o
(D) To achieve one's objective

(B) To criticise
(D)}~To keep on insulating

(B) To be humiliated
(D) To look vacant

151. (A) T (B) ¥a (C) Teem | (D) &F
152, (A) Tem (B) fogm (C) fadm (D) T&avm
153. (A) &= ~(B) IEH (Gp ITu= (D) Fag~
154. (A) = (B) =i (C) o (D) gt
155. (A) Tl (B) TRl (C) woHrds (D) TorEifas
g (9. 156 & 160) wet wiy-fa<de ghw .
156, 9a4

(A) ¥+ (B) @+ a3 (C) ¥+ (D) Wa: +3
157, S€M

(A) 3 +3M (B) 3a+3m (C) 3= +Am (D) T2 + 3
158, WATY o |

(A) ;{:I-i'-l (B W+ T (€) 7+ (D) =79+ 1y
Eﬁﬁﬁ:—aﬁf&ﬁzﬁﬁﬁ&ih—'”" B ik e



159, 3=T

A 5

(A) 3 +3qwm  (B) yg+dm () I+TW (D) I+Tm
ﬂ'ﬂHT:F

(A) W+F  (B) oh+a @qﬁq&ﬁs (D) wht+ &5
61. ‘dFS! W= B

(A) W= ) azeh © #m (O FEEAREE
162,) ‘Treft” = wfifem 2

(A) TR whd Y ekEE) D) w
163. ‘AT H TEFEA B

(A) =t (B) (C) =rm (D) 390 Q=S TA
164, ‘Ti@afg” ® gy 2

(4) F=RTE (B) TR (Ci(ez (D} =k
165, ‘S Y WEET=E 951 &

(A) T (B) ot (C) 3T (D) 378 AHIE G
166. ‘=’ & fagmm 2

(A) = (B) dH (e)//%maﬁ (D) FEAFE G
167. At § 39

(A) ¥ (B) fem (C) (D) T A HTE TE
168. 30 w1 yataar=i 2

(A) B8 B FAE ~€) ™ fo)y T e

=s:

169, ‘3o 1 faeim &

(ALW \@ L (QEW < (D) TE™
170. a@mmmﬁﬁﬁm'%m@wﬁ%

e — e — S ————

23 Code No. : s ~621/2020/Series-A



